District Economics Teachers Association
(DETA) — Kozhikode

(Plus One — Economics - Model Examination — Answer key — English & Malayalam )

Q. No. Answer Key Score
l.a i) upper limit — lower limit @3 1AW - @Y a1 1
b. ii) GATT 1
C. (1) 1951 1
d. (iv)  Jail Cost of Living 1
RU1G3 R1allmesjelni”
e. (ii)Bivariate Frequency Distribution ailalo @r Qo) 1
allm@emo
f. (iii)Cow dung 9em@® a106mdo 1
g. (iv)Water Pollution  =e1 aeNm1s06mo 1
h. (i)Histogram aolav” ¢Qowaoe 1
i (ii)Secondary Data sN®1®@ om0 1
j (iii)Manufacturing ~ m™3amoemo 1
k (i)Retail Price afejo aflel 1
1 (ii)schools  ansyoeIweEBRUD 1
2. Biotic Elements : Birds, Animals 2

HORAI CLISHEBBUY | ald:Hl3hUd, JUI6BBUI

Abiotic Elements: Air, Soil
@ROSE0 PLISHERUI : A6, QNW

3. Social Infrastructure 2

Economic Infrastructure
MVIPany @RSINLOIM MUV 06833

MLIMIAD]H @RSITVOIM TVD Q| 6BBUI

4. Scatter Diagram 2. (Any2)
Karl Person’s Correlation Coefficient

Spearman’s rank Correlation Coefficient
QA WWo

&0U3 allcWPHY MVad MNITW VEMIBHo

MJl@ABRIHAF 028" AVAOMNINW DEMIBH0

5. Deforestation aimmud1a06mo 2




> Excessive use of Fertilisers and Pesticides
@OAVLAIBEBBBOSWVYo @ﬂsmouaﬁm’l:e;g@smgo @AW

9alCWINO
> Non-adoption of Soil Conservation Measures aep’
MVOAGUEM (JAUBRTHMEBBUZ MV 1B>@1HHID 1 SBAMN@
> Non-adoption of Crop Rotation aflg »10101dommo
MSOMIG 1B HBIND@’

> Excessive exploitation of Ground Water gnae
2eI001603 GRATMRAIY DalGWIN

(Any2)

6When the number of poor is estimated as the proportion of

people below the poverty line, it is known as HCR.
30013} GOAINH MIOYVBS 2MEBBBOS GRVAIIMo

HEMBINDS BOIGB®OS ag)siNo Hoemam dlmlismi@. HCR

= Number of Poor People \Total Population

2

> Errors due to Non-Response by the Respondents aflaio
BO®IHNUB (D] HTTIANIOMGa0Ud QITBAM 6)(07%09)03

> Errors due to Lack of Trained and Experienced
Enumerators a10160121m0jo, al@lal@Iumigmoe 988

o@)O’)é(BOQ@O(ZBOS @NEINIo 6)dhI6Ng QDGO 6)@%06;(!3

> Errors in Data acquisition (Tabulation of Data) cawoge.u3
alSld (BalOMIG3 @RYSHBEIUIVI AUGBAM 6)@809308

> Errors in Printing... f1a3les)@d ai@an Rl

2
(Any 2 Points)

1. Issues relating to the Purpose of Index Number
Y2l 0868303 MBSO 2EZUOIR0WT MITWHS

(@JR6BRUY
2. Issues relating to the Selection of Base Period and

Current Period
@pslaunom aldauo (Base Period), MSq | IBao (Current

Period) agamlal 6®0eammgesam@mow] eninweals @JugeBud

3. Issues relating to the Selection of Number of Items

(Goods) included in the Construction of Index Number
MY2108:68808 M1BMNHSIM@IM” GIMEIQYBS OMEBBBOS

(URHOEOS) ag)sRo HGOPEMFHNLIAOWV NUTMWOQS
(@JUR6BRUd

4. Issues relating to the Selection of Formula or Equation
mY@ady0 (Equation) 6@osemmge9einow] mianweq|s
(@JUReBRUd

(Any 2)

It implies giving away ownership/ management of Govt.
enterprises to private companies. 9alo®@eaaIL1d SHMIMI:U3

Or VAIIMOHAMO” MVooREBBUT MVIHI0Y CORILIY” ONT3ABM

(@& 1VWIM” AV1BHI0LAUGIHNO6Mo.

2




10.

a. Great Leap Forward (2000m0@ &) 21050)=GLF in
1958

b. Great Proletarian & Cultural Revolution (a.0omo®

a10e/16q01ad MLIeaPIRld: 0flalalo) in 1965

c.Economic Reforms in 1978 avoauomls, 2 101640063BUI
1978 @3

(Any 2)

11.

a. Positive Correlation atmilglal’ avaosmimuoe

b. Perfect Positive Correlation a1@laddeR atomilglal
MVaOENIMWo

12.

a. Exclusive Class Intervals e$1a1089@3 @1

b.Inclusive Class Intervals 9u3eajdoo@ @1

13.

(50 +60) /2 = 55

1+1

14.

* outcomes of globalization.

*a company hires regular service from external sources, i.e.

from other countries.

*outsourcing has become a major economic activity due to
the growth of communication, IT.

* our nation has become a good destination for outsourcing
because of the

_low wage rate of labourers,

_availability ofskilled labourers and Proficiency in English

language.
aJ00d»IB af)aM® @%osmooelcsm)osum@ 63@3

@RMANOALEINIM”. o JOGR MIAM” TVS1HO1HBD, aJOCOWSR

AOHO BRYUYW]HBH af)aNIEM. aflalid MVICH:®1H: afleyWw1n3
NIV o JGOIVMIQYNS aNLINIW] aJ0odh0I@ af)IM® QIS0

@JWIMAAg BT TVIMIOT D (@JAUBGMRIW] mocﬂ@ﬂgm@ﬁ
9OAIBWWY0 GO AMaHY AflBAIEBBEHS ALY GUaIoo ,

QIBOO HOEOD EGAUGMo , Mo laH @OMIVWONVAOW]
MoMIATHNIMBS Hh¥lal” ag)amT CLISHEBRUd AT JHW

@JWIMBQ]S 2 JOod0IB BHBMIGST MGIWIgems.

3
any 3 points

15.

* It supplies resources * It sustains life * It assimilates
wastes * It maintains aesthetic services like scenery.

* glamd dlaimld@ainm muandlEsm. * MMBE2IW (@& @eull
@JBOMo ©aIQYP. * ald¢ QUIREHOS QladleBMmo. *alleissnud

M@ BT,

3
any 3 points

16

ISM includes six systems
(AYUSH)

2+1)




Ayurveda, Yoga & Naturopathy, Unani, Sidha,
Homeopathy.

Importance of ISM Less expensive Less side-effects.
DA HHAUBLUOINY TV@YBIWo.D@IOM BRYQH ag)am”

allglas30m. @RQAGAIR0, GWIW, QMIM], avlaD,
6a00016Woq |1 (AYUSH)

17.

Qualitative Data: The data organised with reference to
qualities or attributes are called qualitative data.

Eg: Beauty, honesty, religion, gender etc.
Moe130a10m0W] (@) Sla [lanIm HYIQAN BOMERHS8
Al@1206MICRG> BOMEBBUB af)aN AIS1HB0M.
OB2a0EMAN MY, AUBAIMo, (@JIWo, DWOo, BIV0 @SER1WAI

Quantitative Data: The data organised with reference to
quantities and that can be measured are called quantitative
data.

Eg: Age, height, weight.

af)aMOM@3 Mo 1§20 10001 (@) Sla landm &¢1wIom

BOMEERHB VEMICUE BOMEBUI af)aN” aflglasam.
9BIa0EIMOMIM; MVDMBE o, AEGMIRINI0, Hal@AIQo, Lllowo

@s6RIWA ...

1172

1172

18.

Pilot Survey:- * Survey conducted before actual survey *
Try-out survey * Pre testing of the questionnaire

Merits :- * Helps to know the drawbacks of the
questionnaire * Helps to assess the suitability of
questions * Helps to assess the cost and time involved in

the actual survey.
Halelg” auden

OLNIG@N MVRGAIW GBS AMI” MSAHAN AVABGAI
MOS- BV3 MVEGA

€a1085001e/1Qes @fl osTlow)”
VMR

€a108§001e/1QOS EaI00IQYH U3 BROTWIM Ma0IW]HBID

6210B8468B86S GRMEWIL® QeI IEBOmID
M0V 1H6a0

OLNIB@O MVBGAIYHS & alelNjo TVAWAOJo NI @O
MVaOIW]HEBATO

1 (any 1 point)

2
(any 2 merits)

19.

*Protects the environment.

*Maintains ecological balance.

*Provides nutritious food.

*Promotes exports and earns foreign money.
*Helps in sustainable development.
*Increases fertility of soil

3
(any 3 points)




*Cheap cost of production.
* a101NOI®OW MVoAGHI BB,

* @RAIALAILAINVAWIE3 AVIDEIMINITVN Vel SBON0.
* Bal0aHd®»H0a00068BU3 MDIBMD.

* SO®] G@JoOa0lq flesmn.

* 2em1903 anelajoid] IdWla losamn.

* 30600 D@3a]IBME ajelal

20.

* Exploitative land settlement systems

* Out modern techniques

* Lack of fertilisation.

*Lack of irrigation

* Rural indebtedness

* Commercialisation of agriculture
2JoHEMIGRGHMIQ (Gal@1aHOM TV@YBIWo
BRYWM1H MVICH:®1H01BJWHS @PREINI0
QAIBEJEWIW TINIOHO @DEINIo

2LICIV2IM TVVHHOJOD]NAF @RI (DIATEM HSo

BoH1QHS QMR AIGIHNV6Mo

3
(any 3 points)

21.

I).Identifying a problem ii) Choice of target group iii)
Collection of data iv) Organisation & Presentation of data
v) Analysis and interpretation vi) Conclusion
vii)Bibliography.

* @JROOm ®161201RE * alomM WafloM HDOVHATMGHOGD

* BO EUOAINEMO * BOMEBSOS MoALIISMAOJo BRAIMOEMNJe *

BOMEBBGOS GRIYLOMOJo LALLM * MIVamo * WMOmyai

3
(no proper arrangements-
score 2)

22.

*Bar diagram consists of a group of equi spaced and equi
width rectangular bars for each class of data.

*Height or length of the bar represents the magnitude
(Size ) of data.

*The lower end of the bar touches the baseline because the
height of the bars starts from the zero unit.

WIQWAS BICI GIMIIMo BEO GIVYTYe @ely ol 1Yess
MR IDOOH EI88 ST So NIIQBUI @RSEIRIMIEM” 61I0AQ

W Wo.

*i) Simple bar diagram ii)Multiple bar diagram iii)
Component Bar diagram
a) ImNud nod W o b) audglaflud aiod A Wo

C) GHIEMINEMAZ’ 6NIOA AWDWo

23.

Date of birth of applicants - Chronological classification
Applicants from different state - Spatial classification
Married applicants - Qualitative classification
@RGIAHUSHBOS RNHM DO 3LI0000Y® AUBY1HH Mo

ii) aiy@ymy ALoNIMEBRSEIG MIANVBS EREAIGHD®EG _

—_




nuneilw m('o’cpnﬁoe)(omo

iii) 0N0I9aO1®EIVW BEREAIGHDHAB _ DEMNICVGHAIQ
m@c@"l@;@amo

24.

Formula

mean = 31

mean deviation =10.66
process

e el

25.

The lack of investments made by the government in Indian
public health care system is a serious issue. To solve this
problem, our nation promotes privatisation in health care
system.

*the private sector controls and regulates 70% of hospitals
in our country.

*The private sector has a dominant role in medical

education, training etc....
HANYM HIID@RMIGOINY TVoRH:UEN MVoONWIMG @3

MVBHNIB mks@;sauae‘rsg@s @ERINI0 DTG ONIW

@JUYRIEM MV (@JUgo alBla01ABMM@IM”, MAYOS EIaYo
@RYGAIWY al@laldeIm QILOITUNW]T3 AV IG:00§0I03BHOMo

G@Joonasla {lassamn.

*I01800) cnalel Meges 2100 70% G Il@1e:08WQ0
MVoRGHUIHBHWQo MTWQANTH63H Qo 921QaM.

*oowWlen@3 al3§08300M0, aldluleiMoe @seER1aI]G3

mu@;om(scsauel%” B (@JWIM algsens ...

26.

a) Table number

b) Title — It should be in brief.

c) Head note — Below title of the table in brackets. It is
related to the title of the table.

d) Unit of measurement

e) Stubs — Row headings

f) Captions — Column headings

g) Body of the table — Part of numerical data.

h) Foot note

*al151d mMIB *101Batdo - DRIDGNS 2JBAS] af) DA,

*@g0jegns Qe (agddo) *quemnje:ud- A6l GEIDSHGHU3
* ) 0aiatmd- Mo ®LIDGHGHUB FaISlHQeS aIgess”
(2885660 ) - WIQWRs BIW.. *@RS1ER0la] (&:01a] )*
*900aso - ooy oISl Q” @@og@oa@@omﬂ M @33 1 101H63mM0.

OH®” W9 90011S68BOB (M INIWH@18s0M.

27.

causes
® Social , economic and political inequality
¢ Unemployment

4 (any 8 points)




Social exclusion

Lack of income and assets

Low capital formation

Lack of infrastructure

Indebtedness

Backwardness of agriculture and industry
Over population

Lack of social welfare etc.....

VOG0 Tld MM a1 BRAVAB o

VOG0 Tld: MVIMIOH ] a1 BRAVAD o
®  VIPaOIHNIWV BQOQ]SE3

* oomovlelenw

®  A@2IMOBIOHBQo NIV B:00I

®  30BaHld allcaNianIQITLN

* el GaflleHemom1nad &:0al”.

®  @RSITLNIM TVDBHOLERBOS G0l

®  HSMIOWI®

¢ VIPaOJCHHN B:001

28. * growth * modernisation * Equity * Stability 4 (explanation of 4 points;
without explanation score
2)

29, 1. Statistics helps to simplify the complexity of data 4 (any 4points)

2. Statistics helps to study the relationship between
different economic variables.

3. Statistics helps to compare data.

4. Statistics helps the government to formulate plans and
policies.

5. Statistics helps in decision making.

1. awoges melden® eiglmnoenomd qyosalis.e (aRodlmdler)
Ma0OWlEBMo

2. aoymy quomionile: cadlonigsud celaiss eimue aldleond
MoeBidre (ROGIles) uanoWlesam.

3. QOQ @ICAY &2lPYIMB (TVIEE0 (q}gog’ﬂ%g']%) MU0Vl EBM.

4. alevcleg. MERg. @lle:@led08 Muddae. (podiales)




MUABSHIBIOM MLANIWEBMMD.

5. olmaomengEom avaale (qRoglndles) manowiesmmo.

30.

Effects on agriculture :- not benefit in Indian agriculture.

growth rate of has been declined .

agriculture growth

rate is only 3%.

reasons-

(a) removal of agricultural subsidies.

(b) rise in the cost of production of agriculture

(c) fall in the price of agricultural products

(d) lack of government investments

(e) higher exports of cash crops instead of food crops leads to
food crisis.

(f) WTO trade agreement

3Bt ENAILIHD UTILLIMID] MIdWla . 3 % 010BaHD,

QAITVLIVE: CARILIHW (JTIGHLINIV] MIdUla) .

H206MERU
* 30Bat1d vVl e:0d MmN .
* 308041630030 |08M ealelnfle)ss aldevmal
* 00 aHIEH0L|MEBBBeS aflelesoat.
* 03893 MedHal @00l
* gat) Al8®HE8H003 MMy AN8HUd 9©3qJ081q {12 (fbm)ggasﬂ
§.21QaMN. DO BAHHUY J@ITVAW]
Yo flas0M0.
*WTO 003

Effects on industry:- Industrial growth - slow down

causes
(a)cheaper imports

(b) foreign competition

(c) lack of modern technology

(d) lack of infrastructure investments

(e) not removed barriers on India’s trade by developed nations
like USA.etc..

@JWIMOAS HI06MEBRUD

* aNels:060m MOS0

* @RWMIH: MVIEH®]E a3 HBHS @RI

* aleswo Q@%Hmmgas MOV

* Q1AL ERSIAVOIM AVDHOLEBBHS K0T

* Q1390100 oWOD ANlGMVI® 022)6EBS6S GERATMRI® MIWEEMo.

RNV ....

31.

The investigator conducts face to face interviews with the
respondents.

3
(any 2 merits and 2
demerits)




Merits :-

* High response
* All types of questions can be used

* Helps to make a rapport between the investigator & respondent

Demerits :-

* More money expensive method

* More time taking method

* Personal bias may be influenced

@OEMIHHM (JOHBOMILHSDW] garogel @oEIGsIs MSEDM.
OEMEBRUY: -

[? swdmm @oleeem dloes

Af)@OM@o EaIIBKEBEe eIV

@REMIaUEMo (JDIGHEIEBMMNAQIM. @@ BE3 6NIMWo MUNJAllEnond
M0 ERM

[l canayendes aeoo Mo MaUleRe
GBIHEBRUB | -

il B BSOM aleMe 51eIcQIClw @l
SSOT TVAWo af)FERM Gl

allaeaomoaiem aulodlmleqlende

32. Values % % X 3.6 L+1
Study 15 8.9 32.04
Online class 18 10.7 38.52
Entertainment |30 17.9 64.44
House hold 25 14.9 53.64
activities
Others 80 47.6 171.36
Diagram 3
33. education, health, job training, migration, information - 5 (without explanation 1/2

explanation
afl3}9E400NV0, BRYEOIN §0,d®IFILNMIHSYBB  aIB1UdIeIMo

&S16WQq0,0l0I068RU3
(aNwR1B:0eMmeomIes 5 GoJO@)”Ia@zne;craces)”l IIGEON

aNwB1H:0MaA1LI6O® GoJOQ))’](T%:ﬂ;(ﬁcB@U 1/2 m0des)

score for each point)




34.

class f
0-10
10-20 10
20-30
30 — 40
40 - 50
50 - 60

w

DI |0 | D

5 (no need of tally bars)

35.

Financial sector reforms

* reduce the role of RBI on financial sector

* promote private sector banks

* promote foreign investments in banks

* set up new branches of banks without the approval of the
RBI

* support foreign institutional investors (FIIs)such as
merchant banks, mutual funds, pension

funds etc.....

WMDY CNAILIGHEINAI alGlaydRemMeEBRUd :-

* WM B0V INEBRUISBEDTI olavadainins;1mnss
MY@@)MEEBE1T3B:00! AUGO]

¥ oae 0o’ MuIo)endd,  @UIeRd3  @RyRoclendd
OLINVOIYHS 00 463381@3 WMDY MUNJa IMEBBUIHE
olnA@aNNeEs1ed @RV IHIEALINE®EIJAIBOM]SB0IM @RI

M@ 1.
* UI300) GRRILIVITE NINE:D:U3EE @MAIIB0 M@3E;] .

* momlen” coaueilas 50 % ceeo alesuwd MU IHTD
(e‘raaomehd

Foreign exchange market reforms :-

the policy of devaluation.

* Devaluation means reduce the value of domestic
currency to the value of foreign currency.

* flexible exchange rate system

alledwd 0lMn® @HeMNE aldlayeemaEBRUW -8 00231003

MIMWHOD AOHQIMW EIRIOW N MIEM®OJRW] allmla®o

@mqg(moe)@mmgoem“ afleauwd allMnW &EMIs0.

* MOSBAO] GHOQM@TMIW] MVBBHIA@ B lQes

QeIyeUddaHeMo MSa{lelnasl. afle3ud &HoMBaVIYeS gelynjnow]
@®O®2 e 92l MINOS OIRICBINAG  &0MBAVIQOS  gelso
MVAHHIB HOPAN MSaISIWIEM”

BalQOS Qely GuddaHeMo .

* ;meniog almlaw mloas” rveallwomo MSa(lensesl.

2172

2172

36.

* Hydro electricity* Thermal electricity* Nuclear power

2 (any 2 points)




* Tidal energy * Wind energy * Solar power etc....
OOIBYD WABIQES DOISERUZ: -* BRIOEABKDI® @al
@@mséco% @RYEMAI WBBBI* HOSAWMB afMABel® BGIJled
OMRWEe® TLDECEIBLR. DSERIWAI

Challenges of power sector:-

* Insufficient capacity to generate electricity

* Transmission & distribution loss of electric power

* Loss of state electricity boards

* Problems of high power tariff and power cuts

* Shortage of raw materials

* Lack of government investment in power sector
* Problems of privatisation

OVRDREAEULIQYSS @mmm’lg’l@:@:*o@me&@'} 9@3at0Glaflenomd
e euoatielly) *oere®odROBIle @moem
all®oem Mage *MVMINIM HEOQUBKDH ENIOBRHEES
MOOMIADIE: Mage*OWAM alid @IElabloBQe HeURYD
eaiglenoalemo Jugesud *mmoag@ QUMREHSOS
S:00*9vd2meEnaIIRlod TUBHIR MiesMaIOIOMD
@PEI* TVIBIRIUTIEHEMOTIHM @RI

3 (any 3 points)

37.

* questions should not be too long

* questions should move from general to specific

* questions should be precise and clear

* questions should be enable to answer quickly

* questions should not use double negatives

* questions should not indicate alternatives to the answer
8@ Mey GalaparlQes Ywemerud: -

* ¢210BYERU3 ©6BA2IEACIYMIVICIE@T

* 62l0BYBRUB Ea®AlG3 Ml MLANEUPAHRNIW BaIIBLEEREICR I
l6aR6Mo

* GaldBYBRU HDYNo UGB YROWBlEEMo
* G2l0BEBRUBEE GRINOIGE DO MTERIM (@JOQDILNEMo

* Gal0BYERUB S MIBERURERUE OalEWIUIEHTD®Y

5 (any 5 points)




* G2l0BEERUB OTMEOHICRIEE MWIERMEDI OTHOTY.2IM
MEIMEMO @RYUTO)

38. Introduction @pygeio 2
*Growth oriented approach
QI8AB 2J@IME TVAlalMo 2
* Employment generation programmes 2
®IF1G3 (@Bt alFLOY 303
* Provide minimum basic amenities to the people
MVIRPa0Y MYOBHO MV UIEBBSBo @RSTNLOIM @YU §6BBUD 2
20 QIBOmEY (without explanation of
each points — score 1 for
each point)
39. *Find out cumulative frequency (less than and more than) |3
426219101 @018 1BaV] &g o 1SIQ ( oc10v" 303 & €m0d
303 )
*Draw ogives -(less than and more than) 24+9
a0y’ al@e( eelrny” 30a8 & emod 3003 )
*Find out median
DRLLIB0 B6NG 0 1S, 1
40. 1.The definition of UNCED 2

200l MEIYOWYHS @RYAIUDLEBBUINE GHISo MFIOMANWOYIG3
QUBOMAIMHHILI MEINOWOS GBIRYAIN\EBBROS m1oc3m<(2(m

Qfléaumo.

2. Definition of Edward Barbier

Sustainable development as one which is directly
concerned with increasing material standard of living of
the poor at grass root level by increasing real income,
educational services, health care, sanitation, water
supply etc....

mal @JBIMo, WalldéE6m., @REEINY MYEEY, QllBYPEOMV.,
WINIB®A QAUAIM QAUBRLMAOT ®SEREIY BEIGMOS
@OSINNIMAlE2® BYBIG Hal® MUDE:EEROS
60.5/6a]g@OM Qflé:TVMo.

3.Definition of Herman Daly.

(any 1 definition)




To achieve sustainable development, the following
needs to be done.

* limit the human population to a level within carrying
capacity of environment like a 'plimsoll line' of the ship

*technological progress should be input efficient
* use renewable resources

* the use of non renewable resources should not exceed
the rate of their creation

* control pollution

allémume myarudleadd:emenasl@d

* M6y MQTEBSH.

* aJ @@ oGlnflesnnmd @:¢lQm allrasRud Dale@oullens:.

* 9@ oBM CLISH:EBREOS BHOOKBUA® AUBWlafezan
MLIeE®IS QllRy DaleIUNIERH.

* elodleeeme MlQETEs6:.

* ajn@ @ odlafleniom &¢lwoom AleQmBEes Dalt@Iw.
@PAIQYOS D@aIBMEODERIUY &STO.

Strategies of sustainable development:-

* use non conventional energy sources

* use LPG, Gobar gas in rural areas

*use CNG in urban areas

* use solar energy through photovoltaic cells

* use wind power

* promote traditional knowledge and practices

* support mini - hydel plants

* promote organic farming

* alOMIEINAGPOD EOBLH EIVIDINEUB DaleIUTlEES:.
* W (ERWEBREIT afIMIAl BoTTVIAClA e,

* MEEBEI 6JOTVIGlolERE:.

6 (any 6 points with
explanation)
Without explanation
score -3




* #0013 Mmes 9VALREOOD DaleIUTERE:.
* MUDEEIBREBOC GJOOTVICl0lERH:.

* aleMIEIN @20 @RAIGB:E. Halo ddleg.
Bo@TVOAC ]l EB3dE:.

* 021Q8]5 £OAUBKD alBL@IBU8 MSaflelodsd:.

* ©0mQl @all GJoorVIaCloflEsd:,

41. mean 2oWwye

formula)

process ,mean = 36.16
median oowys.
formula

process,median=36.11

mode amicorido

process,mode =35.62

formula - X = XfX / f (any

N =

Prepared by TEAM DETA....
Saleem Melmuri

Sreeja .P; G H S S Puthuppadi
Gafoor .P; Nochad H S S
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